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QUESTION 1

When working with an MPLS LSP, what will the install 172.16.6.0/24 active command accomplish? 

A. The command will swap the prefix from inet.0 to inet.3 

B. The command will swap the prefix from inet.3 to inet.0 

C. The command will install the prefix in inet.0 rather than inet.3 

D. The command will install the prefix in inet.3 rather than inet.0 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/lsp-routes.html#id-21214 

 

QUESTION 2

According to Juniper Networks, what are two reasons to peer using loopback addresses when configuring BGP?
(Choose two.) 

A. When establishing an IBGP connection 

B. When routers are not in the same autonomous system 

C. When routers are not directly connected 

D. When establishing a single-link EBGP connection 

Correct Answer: AC 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. R2 is an ASBR 

B. R1 is a backbone router 

C. R2 is an ABR 

D. R1 is an ABR 

Correct Answer: C 

 

QUESTION 4
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You are asked to change the default TTL handling behavior on your Junos device to ensure that the RSVP-signaled
LSPs in your MPLS network cannot be mapped. 

Which configuration should be performed to accomplish this task? 

A. Configure the no-decrement-ttl parameter for each LSP on the ingress device 

B. Configure the no-propagate-ttl parameter for each LSP on the egress device 

C. Configure the no-propagate-ttl parameter for each LSP on the ingress device 

D. Configure the no-decrement-ttl parameter for each LSP on the egress device 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, which statement about the IS-IS interface is true? 

A. The ge-0/0/0.0 interface will act as an L1/L2 interface 

B. The ge-0/0/0.0 interface will act as an L2 interface only 

C. The ge-0/0/0.0 interface will act as an L1 interface only 

D. The ge-0/0/0.0 interface will not be assigned to a level 

Correct Answer: A 
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